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SET-I
SUMMATIVE ASSESSMENT - I -2018-2019
MATHEMATICS - PAPER-I
(English Medium)
PART-A& B
Class: IX (Max. Marks : 40) Time ; 2.45 Hrs.

Instructions :
1. Question paper contains 2 parts (Part A & B).
2. Part - A & B should be given at the beginning of the exam only.
3. 15 minutes is allotted for reading the question paper (Part A &B) in
addition to 2.30 hours for writing the answers.
4. Part-A answers should be written in a separate answer book. Write the
answers (o the questions under Part-B on the question paper itself.
5. There are three Sections in Part - A,
6. Answer all the questions,
7. Every answer should be visibie and legible.
8. There is internal choice in Section - 11l

Marks : 30 PART-A

Section - 1

Note 1. Answer all the Questions.
2. Each Question carries 1 Mark. 4x1=4

L Simpliy (25)"  (625) %
2. 1F'2'isazero of the polynomial P(x) = 4x'~3x  Sa_then find the value of 2

3. ZPORand ZQOR is a finear pair. IF/POR = 3x and ZQOR = (2¢ + 10y
then find the value of x.

4. Define conjecture ? Give an exarmpl.
Section -« TF

Note: 1. Answer all the Questions
2. Each Question carries 2 Marks 5x2=10

5. Anexterior angle ofa triangle is 110* and one of the interior opposite angle is
30, Find the other two angles of the triangle
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If x +a is a common factor of /) = ' + x~6 and glx) = ° + 3118 then
find the value of a

If a+b=>5anda’+ b= LI then prove that a* + b' = 20

Lines g and 4 intersectat'0", 1f.ZPOY =
90 anda:b=2:3find Lo

* Wiite any oo postulates of Fuclid's Geometry.

Section - ITT

nswer all the Questions.
. Each Question carries 4 Marks,
3. Each question has its internal choice. 4x4=16

= 2+ by, then find the
values of a and b.
(OR) 4
(5 In the adjacent figure ray O stands on € e

live POQ. R, O are bisectors of
ZPOS and “SOQ gespectively, 1f ZPOS = x* then find ZROT.

(@) Factorise ¥ + 13 = 321 + 20

(OR)

(5) ¢ lmand ' isitransversal. 1f b=
(Gx-10Fand = (5x-307 then

determine 2l the angles
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In AABC, the sides AB, AC are produced to B, D.
‘The angle bisectors of ZCBE and ZBCD meetat B, \C
0! Then prove that

ZBAC

1
4BOC =90~ 5

(OR)

3, e fctors O P + 5 < 1 sho that P =1

‘
Ifboth (x-2)and | 53
U

Visualise 4 7+ on numher line upto 3 decimal places, using successive
magrifcaion
(OR)

(b Represent 3 and |3 on number i,
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SET-1
SUM‘WAT]VEASSESSMENT 1-2018-2019

MATHEMATICS - PAPER-L

. (English Medium)
Class- IX
Part- B
Marks : 10
AS-1 AS-11 | -AS-TI AS-IV | AS-V ol
loo [1 2[5 e 7] fie2] [8[psas] ] 03] 0mee
sl TEL] ] 1] [
[Total.
Name Roll No.:
Note:

1. Answer all question in Part - B
. Each Question has 4 options. Write the capital letter indicating the
answer in the given brackets.

3. Marks will not e awarded for ver writenand struck off answers.
4. Each question carries |/ mark.
1 5
4 ifx= ﬁ +2 then the value ohf; is ( )
A) 25 B) 4 € A4 D) -245
15 Ifx +1 is a factor of polynomial 2¢ + K then the value of Kis (|
A) -4 B -2 TE D) +4
16. 3‘ from the adjacent figure value of ¥ is ]
[
A) 105 B) 60° C} 45 D} 30°
o
17. The mmar\; + e
5 s s
LE G5 Dn




Statement-A : Adjacent angles are complementary
Statement-B  Vertically opposite angles are equal
A) Both A and B are frue statements

B) Ads true and B is fulse

C) Ads false and B is true.

D) Both A and B are false

x+ 1is a factor of x* + 1 only if

A) 'n'is an odd integer

©) ‘ais & negative ineger D) ‘nisa pos

I 4+ 1 has no zeroes then " is @

) Real number B) Natural mmber
) NotReal D) Tnteger

2 o>
“The number of ne segments inthe given figure % 5C b £
A4 B S Q9 D) 10
‘The number of books in Euclids The Elerents'
8) 13 v B3, Q31 D) 2

The conjugate angle of s
N x B BBO-x € 20-x

1fthe length and breadth of a rectangular sheet are |5 + {2 and

5 - {7 unil, then i area in . unis

B B) 245 c 3

B) 'n'is an even integer

tive integer

D) 360°-x

Dy 7

The angle btvieen two hands ofa clock at 7 pmis
A) Acteangle B) Rightangle C) Strightangle D) Reflexangle
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From the adjacent figure ey
v 5 >
DO % =5 and = 4 then the vale of x i
A) 8§ B 12° ). 15 D) 18
The ratio of angles in a trangle i | : 2 3 then the triangle s (i)
A) Equilateral B) Isosceles
©) Obtuse angled D) Rightangled

The volume of a cube is a°~6' + 128 then s edge inunits ()
a4 B) x-2 Qr+2' Dyr+s

In the adjacent figure, lines PG and RS intersect each
other at point '0' ZPOR : ZROQ = 5 : 7 then ZPOS.

measure is iy
A 75 B).105°
Q) 150° D) 210°
4,
‘
A Fromthe adiacent
¢ figure wen sawansversal ()

(straight lines are not extended further)

N B¢ o4 D¢

Ifa line '’ fuls on lines ¢ and m such that the sum of nterior angles

of the same side of the transversal is less than 180° then the lines

¢and m are o
A) paralkl B) coincidental fines

C) not parallel - D) cant say



Which of the following pair of angles represents non-adjacent angles

S

Which pair of angles are alterate-exterier angles
in the adjacent figure

A) (L1, 43

B) (£1,45)

C) (L7

D) (24,28}

(
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